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V. SCmOzZnem Frosrimu ACCSER Jw nacacns konverrida dnevea detumas bo
J@ Zaroredna stevilhs anevs 1% Frovlem resu.je N3sienn.;g LOTekeids e
+TITLE ' ACLCSER
<AHENRT . 02,01/
; ;
H PROB;E”: ACCSEG conversion utility doec nut work rrorerly for
i days < 10. The following =aten solve tihis ~roolng,
; i
y FROCEDURE &
i #LER ACCSEG.OLB=E1y24JACCLOG/EX:&CCSEG'
; }HAC,ﬂCCSEG.POB:ACCSED.PAT
’ *FAT ACCSEG.ORJ=ACCSEQ.OLD/CS:147425réCCSEG.FOB/CFtOJ0045
; *LER 21p24}ﬁCCLOG/RF/-EP:ﬁCCSEQ,OBJ
] : - 5
i Rebuild task as follows
B
: »TKE
e TKE=“C1»S541ACCSEQ~=T1 y24]ACCLOG/LBMCCSF&:EF\'RHSG
H /
H ENTER OFTIONS:
’ UNITS=4
’ STACK=64
B 2.
7
H FV114 == é6-MAR-81 TIME OF YEAR CONVERSION
H
iF'C=.
+=$FC+1774
CALL FAaTil
«=%FC :
+FESECT $$$FAT
FAT1: CMF 4(RS) %10, # TWO DIGITS FOR LAY?
RETURN
+END




